run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 18 21:08:41 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADCApedO*

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

ADC-ped

Shill
3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

ADCApgd

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

2000 3000 4000
raw ADC

0 1000

[ADC for FGT RDO=1,ARM=0,APV=4 }

ADOpgj

Ik
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
= 8
0 f=— H
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13049088 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 18 21:12:38 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13049088 FGT _RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 18 21:13:16 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

= 70 E
g -
8
< 60
0
§ 50
40 =
30 .
20
10
0
APV channel
[ ADC RMS for
=
g
[}
a
<
0
=
@
o i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=2 "}
= @) [.==czc555050505050505090505050505050505050503/5050505050505050505055 Fcocococoooooooooooooog EEEEEEEEEEEEEEEEEEEERED Foococococoooooooooooog Fooooooo
2 . . H . .
o
a
<
I
3
3
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=3 }
g 60
[
Q
a
<
0
=
©
[ ADC RMS for RDO=1,ARM=0,APV=4 "}
=
g 60
o
a
<
[%] 50
=
@

40

30

20

10

°'I'I'H[HH|IIIIIIIH]H'..l....'.I

20 40 60 80 100 120
APV channel




run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 18 21:08:52 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

.
2
Q

a)
<

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

ADgped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=9 l

ADC-ped

e
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - -«
% =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13049088 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 18 21:12:39 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

APV channel




run_13049088 FGT _RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 18 21:13:17 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

Fe

70

60

RMS (ADC-ped)

50

40

30

20

10

- CERIIICEERNIOCCERTIOCCERNIOCEE]

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=7 }
80 =

70

RMS (ADC-ped)

60 |

50

40

30

20

10

N N N i
o 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

120

100 pp—t-f - fee o) e + - BeER : R LR R e

RMS (ADC-ped)
il

80

60

40

20

0 20 40 60 80 100 120
APV channel




run_13049088 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 18 21:09:02 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

ADC-ped

10

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=13 |}

ADC-ped

Shill
3000 4000
raw ADC

2

ADCApeg

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=15

2

ADCAp&g

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=16 _§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0fE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—1- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
ofE—r--
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13049088 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 18 21:12:40 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13049088 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sat Feb 18 21:13:18 2012

[CADC RMS for

RDO=1,ARM=0,APV=12 |

RMS (ADC-ped)

100

80

60 fH+-- - - {{-br - - LR T R PP PP PP PETEERE F EEPPRE P PP PR

40

20

°'I'I'I'|'I'I'I" i

i
120
APV channel

[ADC RMS for

RDO=1,ARM=0,APV=13 '}

RMS (ADC-ped)

70 =

=

H
60 FH
H
nm
H
50
= :
= :
30 p— v
= 5
20 /— B
— .
= B H
= H 5
— H H
o = i i . i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for

RDO=1,ARM=0,APV=14 |

RMS (ADC-ped)

i
120
APV channel

AT TR

[CADC RMS for

RDO=1,ARM=0,APV=15 }

RMS (ADC-ped)

i
120
APV channel

[[ADC RMS for

RDO=1,ARM=0,APV=16 }

RMS (ADC-ped)

60

]1111'|1'I

50

40

30

EEEEEEEED ”1

20

10

0 20 40 60 80 100 120
APV channel




run_13049088 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 18 21:09:13 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

ADC-ped

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

ADC-ped

W)
0 1000 2000
raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=19 |
—

St
3000 40(

Y T T T
9]
o
<

0 1000 2000 3000 40(
raw ADC

ADC for FGT RDO=1,ARM=0,APV=20

[[ADC for FGT RDO=1,ARM=0,APV=17_J

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 12
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

ADC-ped

0 1000 2000 3000 40(
raw ADC

- 4000 p—=
] = . . . . . .
o =
Q 3500 =t - - - - -
< =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = e
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = SR
=
[ ADC for FGT RDO=1,ARM=0,APV=20
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0




run_13049088 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 18 21:12:41 2012

[ADC MPV for RDO=1,ARM=0,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500 |+

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

3 =
3 —
Q 1500 p—
8 g
< —
z [—
g o
] [
1000 f——
500 f—
M
L
0 pb—o
500 = i . . . i . . . i . . . i . . . i . . . i
Q 20 a0 AN 20 100 120

APV channel




run_13049088 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sat Feb 18 21:13:19 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

45
40

RMS (ADC-ped)

35

30

25

20

15

10

5

°TII1|HH i @%ﬁwmrpmw

i i i
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=19 |

50

RMS (ADC-ped)

APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}
80

70

60

RMS (ADC-ped)

50

TTEEFFHFRHTTT

°'I1H[I11I|H'I1|HI1] |.|_|.|I_l

40

30

20

10

0

APV channel




run_13049088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 18 21:09:24 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

ADC-ped

[ 1000

[ADC for FGT RDO=1,ARM=1,APV=1 }

3000

4000
raw ADC

o
3
[
o
=]
<
10
1
Dt
3000 4000
raw ADC
[ADC for FGT RDO=LARM=1APV=2 }
2
o
[a]
<
10
1
i i i
1000 2000 3000 4000
raw ADC
[ADC for FGT RDO=1,ARM=1,APV=3 }
2
2
2000 3000 4000
raw ADC
[ADC for FGT RDO=1,ARM=1,APV=4 }
L
1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=1,APV=1

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
= =

3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=3

- 4000 p—
5] = . .
oo =
Q 3500 F=— - PR PR
< =
3000 f=— EEE S EETE
2500 = RPN N R .
2000 f=— Rl O R
=
1500 f=— - EEEE
1000 P=— - v - b e e e : EER A EEEE )
= 2
= 2
500 s e e . EEE P PR
= o
Of—----pmmmee B EE A PR
= 2
= 1
0

[ ADC for FGT RDO=1,ARM=1,APV=4

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. s . .

10°

10"

10°

10"

10

10"

10

10"

10°




run_13049088 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 18 21:12:43 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13049088 FGT _RMS 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 18 21:13:21 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

i
120
APV channel

[ADC RMS for

E g H H H H H H
5 % 5-” - . . ;L [EEERCRPRR | ¥ P e  RTRCTERR e
< = b 5 q 5 5 5
@ — . . f . 8
= 1o e I N P e I A O e O I O I [ Y o T e b [ - e I )
e = 5 5 q 5 o 5
o e A R S R[S c TRpRg L o1 O PR E R
30 :.— + . - B R B R R ] 0 R I I E A B ) 3 S O O Y
— H
— 5
20 - f e f e T b e
10 o f e e REEEEEE
= i i
9 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=2 "}
= 60
)
54
2
3
2 SO G e I N CNERREE o o A N o SEREERRRER b o R 3 K BT L e R R EEL | EERRRCECE ERCEREE " SERCERES | EERRCERERRRELERE! s SEA0 Tl | a0 EREERES
I
&
40 p——-- ek R e P B e PR e - e A2 A e
EON e EEEREREE ¥ 3 E PR O 5 EEEREFEREREN | EEEFERES £ PR 5 EEE F BN 0 R FEE S 3BTRS I FEEEEEE I EEEE  BEEEEERE F B S SR E B O SRR A R E E S R O S
20 P s e b b e et e
L e
o i
120
APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

APV channel




run_13049088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 18 21:09:34 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

in=2,Disc=

imeb

Sat Feb 18 21

run_13049088_FGT_MPV_1,T

12:44 2012

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13049088 FGT _RMS 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 18 21:13:22 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13049088 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB

Sat Feb 18 21:09:39 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

2

ADC‘pFOd

1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1ARM=1.APV=13 ]

ADC-ped

I
3000 4000
raw ADC

1
1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L LT T e LR RIS B
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... .0 .l e A

10

10"

10

10"

10°

10"

10°

10"

10

10°




run_13049088 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 18 21:12:44 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13049088 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Feb 18 21:13:22 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

60

50

RMS (ADC-ped)

i I]II[_I:{IH

40

30

20

10

||||||||||'I111]1111|

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

70

60

RMS (ADC-ped)

50
40
30

20

10 =

0

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

= =
3
g
%) 70 FHH
[=] o
g H
o H
= =2
['4
=
50 p——
=
40 p—
30 f/—
=
20 f/——
—
=
w0 E— :
= :
0 = 1 1 1 1 1 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

80 P=

70

RMS (ADC-ped)

60
50
40
30
20 |

10 =

0

APV channel




run_13049088 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 18 21:09:50 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

ADGped

I
3000 4000
raw ADC

1
0 1000 2000

ADC for FGT RDO=LARM=LAPV=19
—

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=20

2

ADC‘pgd

o

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

— 0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

Py
lw)
O

iy
p=
)
<

|

p=
T
<]

=)
|

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[[ADC for FGT,

RDO=1,ARM=1,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
60 80 100 120
APV channel

L0 LN L A A L A K LA i

[[ADC for FGT

Py
]

O=1,ARM=LAPV=20 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

1 H|'I1II'|HI'I

=
=
=
e
=
=
=
—
=
=

0

N
I

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 100 120
APV channel

APV channel




run_13049088 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 18 21:12:45 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

i i i i
20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13049088 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Feb 18 21:13:23 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

g =
-3 =
o @ | =—°°°°°°955009050009¢p000905000000004(4[00000GPEE000E000000905000905HPE005000995000905000904P009090009090000030000GPO00000000000000000000GPO050000
o
< : : :
2 50 B T § PR R | B T et I e eeeean
z ; ; ; ; : :
40 I R EE AT Y PR 4 Eg EEETE g Rl BY B N R FP PR § EEET P KEPR } PEPREPPRTTETPREP.Y [ 'REPPRTPETPPEPPRE o PEPPPPEPE F ERPFERPPPRPPY b B
KON o e RER EE L EREEEEE o Bl & BN o SRR o RERREE f S & BhEhs EERE ol 58 § ERREEREE B i BRI RS £ Ehbadl SF B dCEERET U J 3 £ CanREERE &N o 3 § EEE o ERRai ] Sl HEE R
20 F—--eeeeeee e e T e
10 e S S EECEEEEE TR e RLEEEEEEREEEPEE L R RPN AL TR TP R P L R R R e
o i i i i i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }
70

60

50

RMS (ADC-ped)

40

30

20

10 |+

0
APV channel

100

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

APV channel




run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 18 21:10:01 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADC-ped

1 I
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

10°

10"

= 4000 p—
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B VR £ EPE R | T [E ST
< =
3000 P=f—|- <= {-t-f---- egoi|=|i=p==qkk=g==> oofpoocscas
=
P = o EEERER S RERER AEEE B ELERE | ERERER] I & oofpoocscas
= 8
2000 f=—|- <~ {-t-f---- CER B B EEE § EEE R | EEEREE oofpoocscas
= i
1500 |- [« 4=t < p -~ - B EIERE E EEE PR | B
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|ollcposdilslses S
= 2 8
= . 2
()= = EEEEEEE SRR EEEE B LR § BT R | PR IO SR
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
4000

3500

ADC-ped

3000

2500

2000

10°

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

1000 |-
500
=20
A N S 10°
20 40 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=2

APV channel

10

10°

= 4000 g
3 = .
2 = H
Q 3500 B A-{-1-}-F-F 4514 --F------ 1-
< =
3000 B A-{-1-}-F-F 4414 -F------ 1-
=
2500 pE—-A-{-1-}-F-F 424 F---- - 1
=
2000 [ oo
=
1500 B 4-1-1-f-r- - 1 S LELELE ==
1000 B - 1-1-f-r-F -4k ==
L
V)= O B X Y S O AR | PR PP adha
rm
)= -t - -- e
i i i
20 20 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=3
4000

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

© TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120 10}

APV channel

- 4000 p - - - - -
o =
9 3500 |- - - - - - - N EEEET EEE B LR RS T e R EEEEE
< H
3000 P~ ------ dp=oosilesc|idrodrqle=eqes Jpefpeo=c- U EEEEL 1
2500 - - - - - - dbacacloac|ldbadpdescdca S o
rm
2000 |- - - - - - | S EERY I T B R A PR
=
=
1500 fEH—|- -+ - - - B SRR EERY Bl TE PE P e Speeens 10t
i=.
1000 pF—f- - - - - - N EEEEY EEE) B LR RS T e R EEEEE
=
500 pF—|- - - - - - - H EEEET EEE B T LR RS T e R EEEEE
= -
L= o B i il i e el et ettt o Hroegeocee itk 2 10?
Bl . . . . i . . i . i . i . . i .
0 2 40 60 80 100 120

APV channel




run_13049088 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 18 21:12:46 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13049088 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 18 21:13:24 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

120

100 p

80

60

40 fr

20 ¢

[ADC RMS for

RMS (ADC-ped)

50 :
4o
30 [
20

10 |-

[CADC RMS for

RDO=1,ARM=2,APV=2 |

RMS (ADC-ped)

45

40

35

30

25

20

15

10

[T mr|1rn[nn mrnnlnn

APV channel

[CADC RMS for

RDO=1,ARM=2APV=3_}

RMS (ADC-ped)

i i
100 120
APV channel

[[ADC RMS for

RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

120
APV channel




run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 18 21:10:09 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

2

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

Bo?
[
%)

a)
<

I
3000 4000
raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

ol
[

a)
<

I
3000 4000
raw ADC

i
2000

[ADC for FGT RDO=1,ARM=2,APV=8 }

3000 4000
raw ADC

0 1000

B2
[
Q
ja}
<
10
1
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT

RDO=1,ARM=2,APV=5_J

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

N
NE-.
IS
S
3
3
@
S
o
15}
&
e
Y]

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 f=— - -
% =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—--
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13049088 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 18 21:12:48 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13049088 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 18 21:13:25 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

90

80

RMS (ADC-ped)

70

60

50

40

30

20

10

i
120
APV channel

0

© AT FT AT AT AR T

[CADC RMS for RDO=1,ARM=2,APV=8__}

140 fE

120
L—

RMS (ADC-ped)

100 |
80 |
60 [

40

20 |+

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

160
140 =

120 [+

RMS (ADC-ped)

100 f—
80

60

40

20

0

APV channel




run_13049088 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 21:10:15 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13049088 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Sat Feb 18 21:12:49 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13049088 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 21:13:26 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 21:10:17 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 21:12:49 2012
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run_13049088 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 21:13:26 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 21:10:24 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sat Feb 18 21:12:51 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 21:13:28 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 21:10:25 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 21:12:51 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 21:13:28 2012
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run_13049088 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 18 21:10:31 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 21:12:53 2012
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run_13049088 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 21:13:29 2012
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run_13049088 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 21:10:39 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 18 21:12:54 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 21:13:30 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Sat Feb 18 21:10:41 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
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run_13049088 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13049088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 18 21:13:31 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 21:12:56 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 21:13:31 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 21:11:00 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 21:12:57 2012
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run_13049088 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 21:13:32 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sat Feb 18 21:11:05 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 21:12:58 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 21:13:33 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sat Feb 18 21:11:13 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 21:12:59 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 21:13:34 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:11:20 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:13:01 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:13:35 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:11:26 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:13:02 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
Sat Feb 18 21:13:37 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 21:11:32 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 21:13:38 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2BC

Sat Feb 18 21:11:34 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 21:13:03 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Feb 18 21:13:38 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Sat Feb 18 21:11:40 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 21:13:04 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 21:13:39 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 21:11:44 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2CD

Sat Feb 18 21:13:05 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=2,asmb=2CD
Sat Feb 18 21:13:40 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC

Sat Feb 18 21:11:46 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 21:13:05 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 21:13:40 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 21:11:53 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=3,asmb=3BC
Sat Feb 18 21:13:41 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sat Feb 18 21:11:55 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 21:13:07 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 21:13:41 2012
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run_13049088 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Sat Feb 18 21:12:01 2012
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run_13049088 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 21:13:08 2012
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run_13049088 FGT RMS 1,Timebin=2,Disc=3,asmb=3CD
Sat Feb 18 21:13:42 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 21:12:07 2012
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run_13049088 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 21:13:10 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13049088 FGT RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Feb 18 21:13:43 2012
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run_13049088 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4BC
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run_13049088 FGT RMS 1,Timebin=2,Disc=5,asmb=5CD
Sat Feb 18 21:13:48 2012
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